


200 · 4 =              4800 : 100 =

270 : 3 =              301 · 2 =

15 · 10 =               80 · 60 =

6650 – 650 =        999 + 1 =

70 + 65 =              31 · 3 =

8090 – 8040 = 



800       а                48        У
90         и                602      и
150       р                480      с
6000     а                1000    д
135       е                 93       в
50         н 



У н и в е р с и а д а







3 + 5
6 - 3
3 < 9
10 > 6

2 + 8 = 10
20 – 5 = 15
Х + 35 = 70

Х + 15 = 68 : 2





Алгоритм буенча эшлəү.
1. Катлаулы тигезлəмəне  
гади   тигезлəмəгə əйлəнде-
рəбез.

   2. Гади тигезлəмəне чишə-
без.
   3. Дөреслеген тикшерəбез.


